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REŠENJA 
 
 

1. a) gv = tωsin2220 ×  = n tVnvs ωsin82.14 ⋅⋅= , => n = 21. 

 
b)  

15V≈ −
14V≈ −
13V≈ −
12V≈ −

 
 
c) 

Gv Pv
Gv Pv

 
Radi se o neinvertujućem pojačavaču sa pojačanjem 2! 
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2.  
a) 
 

+

-
R1

R2

1v

U1

1v ′
Invertujuci pojacavac

1 2 1 1 2 2( / ) 5V ( /100k ) 100V 5kv R R v R R′ = − ⋅ ⇒ − = − Ω ⋅ ⇒ = Ω

 

+

-
R3

R4

R5

1v Pv

2v

Sabirac

5 5 5 52
1 2 1 2

3 4 3 1 4

5 52

3 1 4

2 2
3 2

3 1 4 3

1 2 0

1 1 1 1
0 5k

1 1

P

s

R R R RR
v v v v v

R R R R R

R RR
a k k

R R R

R R
R R

R R R R

′= − − = −

= + = = −

− = − = ⇒ = = Ω
 

b) 

5 52
1 2

3 1 4

300 300
1 2 0.03

100 101 100
1 2 150 150

3
2 100 101

P

s

D

R RR
v v v

R R R

a k k

k k
a

ρ

= −

= + = − ≈  ≈− = = + ≈


 

 
 
 
 
 
 
3. a) V3jUTEV −= , Ω+= )1( jZTEV  

 
 
 
 
 
 
 
 
b) Ω−= )54( jZP  

PR PC

 
Ω= 4PR ,  µF06,1=PC  

 
c) )2sin(A53,0)( fttiP π⋅=  
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4. a) 
Za .0,,:010V 2 constvpolarisanadirektnoDZOFFDv IG ==−−≤≤−  

Za ]V[5,0]V[,,:V40 2 GIG vvOFFDZONDv =−−≤≤  

Za .V2,,:V10V4 2 constvprobojDZONDv IG ==−−≤≤  

 
 
 
 
 
 
 
 
b) 
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